H)-

1 —2 0
A plane 11 has vector equation r = (2) +,u( 0 ) +A ( —4)
0 5

a) Find the Cartesian equation of the plane I1

b) The plane 11 meets the x, y and z axes at A, B and C respectively. OABC forms a pyramid. Find the
volume of the pyramid.

0) Aormad b plane is prpendicida bo (:) and ( _OH‘)
()t ) ,
20

{MT,.) is o POMB n rlm f' g i -y
rn=an gco\os ‘pro&uc}s =0 .. b
b2 (1) | ([

9 [ 5 |- |5
2] \e\0] |4

10 x+53+ fZ= 10 4205 404
10x +53Hrt= 20

B) It 15 usehul +o drow a sketchh

Crosses & ax\s when a:O,z:O

0xx + 0O+ 0= 20

Crosasd oxis whea =z2=0
0 + 5\\, 4+ 0 ‘-20
y=H
8(0,%,0)
Crosses 2 axis whea xzy =D

L = 5
€ (0,0,5)
Volume S? 'P\jta».l& =§ s Dase avea x hes'akb

x 2x4 5 5

=1l
3 2
= § vans?
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